Appendix 5
Priority in REC Selection



Step 1. Application of Benchmarks

Benchmarks for RECs will be established by the
Procurement Administrator, in consultation with the
lllinois Power Agency, the Procurement Monitor, and the
lllinois Commerce Commission (“ICC”) Staff. The
benchmarks are confidential and are subject to review
and approval by the ICC.

Bids that fail to meet the benchmarks are eliminated from
consideration and are not evaluated.




Step 2. Target and Wind
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1In this scenario the Target isnot met. The selection process continues
asinthe flow diagrams, although in this case, when the process ends,
the Target isnot met. For simplification purposes thisis not shown.

\ 4

price basis until
Target reached
S

Select RECs on lowest

~

J

v

¢ SPool (selected)
L R Pool (rejected)

( . )
Put RECsinto 2 pools

Process ends
e Target met
* 75% wind met
* Location met

lNo

* Location met

\ 4

> Achieve 75% Yes | SPool hasonly IL Yes
: wind in SPool? » RECs? —>
|
E No l No
'
|
|
|
'
|
:
: Y Exceed budget if
! ) . get i
! Wind RECsin Yes . Yes
| -
: R Pool? > ;eglgc;e 1 non-wind >
' - rom S Pool
! No with 1 wind REC No
: from R Pool ?
|
|
:
E Y Process ends
: SPool hgs only Yes « Target met
! IL RECs: * 75% wind not met
'
|
|
|
'
|
|
|

Transfer lowest
pricewind RECin
R Pool to SPool

v

Transfer highest
price non-wind REC
in SPool to R Poal




Step 3A: Pools for Location Adjustment
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Step 4A: lllinois Adjustment
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Step 5A: Adjoining State Adjustment
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Step 3B: Pools for Location Adjustment
(Insufficient Bids to achieve 75% wind)
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Step 4B: lllinois Adjustment
(Insufficient Bids to achieve 75% wind)
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Step 5B: Adjoining State Adjustment
(Insufficient Bids to achieve 75% wind)

 Start | Calculate cost of location improvement to
' IsRAN Pool 1 increase Adjoining State RECs:
1
| empty?
1 1

Replacement Cost (A3) = lowest $ REC from
RAN Pool minus highest $ REC from SON Pool.

Put al sdlected
RECsin

Winning RECs.

Process ends.
e Target met

* 75% wind not met
* Location met

Is budget
exceeded if make
location
improvement?

Yes o

Process ends.

e Target met

* 75% wind not met
* Location met

No

Make improvement.
Add Adjoining State
REC to Winning
RECs.

- Is SON Pool

empty?

Yes

A\ 4

Put al sdlected
RECsin

Winning RECs.

v

Process ends.

e Target met

* 75% wind not met
* Location met

No



